


D

7|

x\

Fod=t.

che 1 o] AA2HE ABCD o o] A P 7} 9w, 12 —y?
S

o gre

2.

® 6 B 7 @ 8 B 9

D 5



oS 189l AB =4, /B =45°, /C =

30° 91 AABC oA Z21H A o4 BC
of Y& £4o] vhe H gtx & o, BC

o] Zol?

® 42 @ 46
@ 2V2+26 ® 82

30°

Q



4. & 2o 4 AC x AD & Fotole}.

D 50v2 @ 52v2 @ 54v2 @ 56v2 B 582



o]

Jl-j n

5]

]Z

Wi

Far

ELL;

Ct
=B

Fy=x2+4x+42y=2x%-4x+59 IO F

Apole] 7elg Fatodat,



N oR

= AEDG

O aABC

=CF

=GE

= DH

@ AC

® FG=0b

—a

@ pABED = oCFGH + AAHD +

AABC + AEFB + AGDE

O

A}

Z0

A

s

® oCFGH



